MHHHUCTEPCTBO HAYKHU U BBICIIEI'O ObPA3OBAHIS PO
HEPMCKHU T'OCY IAPCTBEHHbBIN HAIITMOHAJIbHBIN
NCCIIEJOBATEJIBCKMM YHUBEPCUTET

@DoHAbI OLICHOYHBIX 3HAHUI 0 ANMCUUILINHE

«MHOCTPAHHBIN S3bIK (AHTJIMHCKUMN)»



1. ®opMupyeMble TUCHHUIIMHON KOMIIETEHIUH

YK.4 CriocoOeH MPUMEHSITh COBPEMEHHBIE KOMMYHHUKATHBHBIC TEXHOJIOTHH, B TOM YHCIIE Ha
MHOCTpaHHOM(BIX) SI3bIKE(aX), U1 aKaJIEMUYECKOro U MPOo(hecCHOHATLHOTO B3aUMOIeHCTBUS.
YK.4.1 OcyiiecTBisieT KOMMYHUKAIMIO, TPAMOTHO U apT'yMEHTUPOBAHHO CTPOUT YCTHYIO U
MMCbMEHHYIO pe€4b Ha PYCCKOM U MHOCTPAHHOM SI3bIKax

YK.4.2 OcyiiecTBisieT NepeBo/i TEKCTOB C MHOCTPAHHOTO A3bIKa HA PYCCKUM U C PyCCKOIrO H Ha
WHOCTPaHHBIN B aKaJeMHUYECKUX U MPOPECCHOHAIBHBIX LEIX

2. [Inanupyemble pe3yJbTaThl 00yUeHUsI

Koasbl
KOMIIeTeHIHH/ .
Ilnanupyemblii pe3yabTar
HHIUKATOPOB
KOMIIeTeHIN i
YK.4.1 3HATD BO3MOXHOCTH CHEIMATU3UPOBAHHBIX CAWTOB MJisi ABTOMATH3AIMHU

IIepeBojia ClIeHUaIN3UPOBAHHBIX TEKCTOB

YMETD cocTaBiATh U HCHOJIB30BATH IJI0CCAPUU TEPMHUHOB 110 HAIIPaBJICHUIO
CBOETO 00y4YeHHS

BJIAZIETD HaBplkaMM @POBEPKHM BapUAaHTOB IIEPEBOJAOB, IPEAJIAraeMbIX
CIOBapsIMM M pecypcaMH I aBTOMAaTU3MPOBAaHHOIO  IIEpeBOAa
CIIEHMAJIM3UPOBAHHBIX TEKCTOB

YK.4.2 3HATD nekcuueckue M TpaMMaTUYECKHE COOTBETCTBHUS B PYCCKOM H
AHTJIMHCKOM $I3bIKaX, HEOOXOAMMBIE NIl NEPEBOJa TEKCTOB C aHIVIMHCKOIO
A3bIKa HA PYCCKHMU U C PYCCKOT0 Ha aHTJIMUCKUM.

VYMETD BBINONHUTH YCTHBIM NEPEBOJ TEKCTOB C AHIVIMMCKOIO S3bIKA Ha
PYCCKMH U ¢ pyccKoro Ha aHriauiickuil (ypoeHb Al —A2), HaxoauThb
HKBHUBAJIEHTHl MJAMOMATHUYECKUX BBIPAKEHUU MO U3yYaeMbIM TEMaM.
BJIAJIETb HaBbikoM oO(OpMIIEHHS MUCBMEHHOTO BBICKA3bIBAaHUA Ha
AHIJIMMCKOM SI3BIKE.

3. Cneumnduxanus Tecra/3aiaHnus

Tect mo auctumnuHe «THOCTpaHHBINA S3BIK (AHTIMIICKHI))» MpEACTaBIseT cOO0H MepedyeHb
IIPUMEPHBIX BOIPOCOB, MPEIIATAEMBIX CTYJAEHTAM C YYETOM TE€M U 3aJaHUN KOHTPOJBHBIX

MEPOIPUITHIA,TPENYCMOTPEHHBIX 110 TUCLHUIIIMHE.
Tect u3 20 BonpocoB. Bpems BbimonHeHUs - 45 MUH.

Kaxxnoe BepHO pelieHHOe 3aJaHue pa3/IeioB OIICHUBAaeTCs B 5 6auioB. MakcuManbHbBIN 6ar 3a
BEpHOE BHIMOJIHEHHE Beex 3aanuii Tecta — 100 6amnoB. MUHUMAaIBHBINA IPOXOAHON Oamt — 41,
YTO COOTBETCTBYET MUHUMAJIHLHOMY IOPOTY JIJISl BRICTABJICHUS OTMETKH «YIOBJIECTBOPHUTEIIHHOY.

Kpurepuu ouenvrBanus

Cxema OIeHUBAHMS, B 3aBUCUMOCTH OT CJIOKHOCTH 3aJJaHHA.
(1-14) 14.3=42

(15-21) 7.5=35

(22-28) 7.3=21




(29-30) 2.1=2

Total -100

Cxema KOHBepTaIuu 0aIoB B OTMETKH:
0-40 6amnoB — «HEYIOBIETBOPHUTEIBHOY
41-60 6annoB — «yIOBIETBOPUTEIHLHOY
61-80 6amtoB — «X0poIIOY»

81-100 6amnoB — «OTITUIHOY»

Tect mo mucuuminHe MHOCTPAHHBIN A3BIK (AHTJINIACKUIT)
Bapwuanr 1.

LI (to major) in English, soI5 ................. (to have) many English classes
every week.

A majors .... am having

B am majoring .... have

C majored ..... had

2. My friend is a second-year student. Last year he ..... successfully and entered the University.
A revised exams

B kills the test

C passed exams

KN you a second-year student?

C Was

4. The best students in group have already got a grant ...... 5 months.
A for

B since

C about

5. One of the two periods of time that a year at high schools and universities is divided into,
especially in the US.

A semester

B goal

C duty

6. Please give me your homework ... Friday. It’s a deadline.
Ain

B at

Con

7.YO0U....... cross the road when the red light is showing.
A mustn’t

B don’t have to

C shouldn’t

8. If she studied hard, ........ .

A she could pass all exams.

B she wouldn’t pass the test.

C she would have a worse result.

9.You........ better if you turn on the lamp.

A are able to see

B can be able to see

C will be able to see



https://www.ldoceonline.com/dictionary/period
https://www.ldoceonline.com/dictionary/university
https://www.ldoceonline.com/dictionary/divide

10. Windows is ......... operating system.
A popular

B more popular

C the most popular

11. Which of the following best describes the Internet?
A a serios of pipes

B a web of networks

C a fictional universe

12. The smoke from cars and factories causes a lot of air.....
A Greenhouse effect

B global warming

C Pollution

13. We must try and reduce our..... It causes a lot of land and water pollution.
A litter

B deforestation

C consumption

14. After a long period with no rain at all there was a severe.....
A flood

B drought

C fire

15. You use a..... to type the words.
A microphone

B mouse

C keyboard

16. A ..... connects the computer to the Internet.
A router

B printer

C scanner

17. My...... is favourite electronic device. | play a lot games.
A scanner

B TV

C games console

18. Have you ever been tardy for your classes?

A Yes, | have

B Yes, I do

C Yes, lam

19. Tomas had to work as ...... as study.

A good

B hard

C well

20. Millions of e-mails...... currently in the world.

A are send

B are sent

C was sent
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Tect mo mucuumInHe MHOCTPAHHBIN A3BIK (AHTJINICKUIT)
Bapuanr 2
1. What year are you in?

A | am a second-year student

B I attend classes five days a week

C I was a student two years ago

2. ... you a second-year student?

A Do

B Are

C Was

3. The best students in group have already got a grant ...... 5 months.
A for

B since

C about

4. A person who is studying at a school, college, or university
A graduate

B student

C applicant

5. Please give me your homework ... Saturday. It’s a deadline.
Ain

B at

Con

6. You ....... cross the road when the red light is showing.

A mustn’t

B don’t have to

C shouldn’t

7. 1f I were you, ........ .

A 1 would enter university.

B I would be enter university

C I entered university

8. You........ better if you turn on the lamp.


https://dictionary.cambridge.org/ru/�������/����������/person
https://dictionary.cambridge.org/ru/�������/����������/study
https://dictionary.cambridge.org/ru/�������/����������/school
https://dictionary.cambridge.org/ru/�������/����������/college
https://dictionary.cambridge.org/ru/�������/����������/university

A are able to see

B can be able to see

C will be able to see

9. Googleis ......... search engine.
A popular

B more popular

C the most popular

10. What does PC stand for?
A A serios of pipes

B a web of computers

C personal computer

11. We must try and reduce our..... It causes a lot of land and water pollution.

A litter
B deforestation
C consumption

12. After a long period with no rain at all there was a severe.....

A flood

B drought

C fire

13. You use a..... to go on the Internet

A microphone

B mouse

C browser

14. My...... is favourite electronic device. I play a lot games.
A scanner

B TV

C games console

15. Have you ever skipped your classes?

A Yes, | have

B Yes, I do

C Yes, I am

16. Tomas had to work as ...... as study.

A good

B hard

C well

17. Thousands of articles..... by credit card every day
A are paid

B are sent

C was sent

18. A lot of useful information..... on the Internet
A are found

B is found

C finds

19. Very heavy rain can cause....

A drought

B flood

C greenhouse effect

20. They have studied at the university at full-time department
Ain

B since

..... 5 years.
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